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No No K4 B 4 B B 4 1L L I 5 H# ] RA b
1 154 3013084 &M EE =T INZETNL NG NFAR 55.82 52.64 1:48.46 0.00
2 153 3012206 FJIE K R TR N 58.25 53.55 1:51.80 27.41
3174 3014309 MO = FK EARN/INGEAR 57.86 54.65 1:52.51 33.23
4 176 3012117 MY #HH HRR FET) NS 57.70 55.54 1:53.24 39.22
5 145 3012544 {FE B K H HAR AR/ NFAR 59.05 54.44 1:53.49 41.28
6 173 3011949 AF: =& e P B I /N AR 1:00.27 53.37 1:53.64 42.51
7 169 3012553 {LjE f— FKH pABUIN A PANE Y 58.96 54.83 1:53.79 43.74
8 162 3014351 4#h i = EH Trbv=y ) F-A4 58.59 55.66 1:54.25 47.51
9 171 3014484  Flils B A = HFE BN 59.19 55.61 1:54.80 52.02
10 148 3014306 iR #H= K H TR 59.50 56.48 1:55.98 61.71
11 157 3014139 F+o§ f&:3} iy B LI /NP 59.48 57.12 1:56.60 66.80
12 165 3014307 L Fidth FKH Y HNER 1:00.35 56.71 1:57.06 70.57
13 149 3012523 VYa=w Fn— BEF APPI. Jr 1:00.71 57.71 1:58.42 81.73
14 182 3014356 A2H EiK =F F=he A/ h=T A" 1:00.57 58.01 1:58.58 83.04
14 175 3014358 fEx KR KA =P 1y 2= AF—F—h 1:01.37 57.21 1:58.58 83.04
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DATA PROCESSING by SE I KO

TIMING by SET KO
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No No K4 B 4 B B 4 1L 155 I S I N AV
16 179 3012852 =7 fKH =T A AF-AR =V DR 1:01.94 56.68 1:58.62 83.37
17 168 3014150 &R B L7 EENSWINES 1:01.66 57.06 1:58.72 84.19
18 151 3013063 3k &K =T RN 1:03.69 55.24 1:58.93 85.91
19 167 3012758  #&Ebk IAER (=87 B B /NERE 1:01.92 57.74 1:59.66 91.90
20 187 3013265 EH EA =T HAMEY 227 1:01.26 58.46 1:59.72 92.40
21 164 3012850 WL jHzH =F A AF-AR =V DR 1:03.22 56.79 2:00.01 94.78
22 147 3013230 {ERE KEH = BB ANE 1:01.20 58.91 2:00.11 95.60
23 180 3014345 /)Ak #EsfF P FH/NERE 1:02.37 57.82 2:00.19 96.25
24 184 3014304 ﬁfﬁ% [EFN K H (ERWINES S 1:03.38 57.79 2:01.17 104.30
24 172 3014349 2@ EBRK =P 1Y 2= AF—F—h 1:01.87 59.30 2:01.17 104.30
26 143 3012122 Jllﬁ &4, Fik e ANE 1:03.66 57.63 2:01.29 105.28
27 177 3014141 {&jiE :FEEI L PLEE —/NFPIR 1:03.27 58.35 2:01.62 107.99
28 170 3012130 & FIK L ik — N 1:03.20 59.12 2:02.32 113.73
29 163 3012115 {EjE ZEIKER SHTHRAS ST Sk /N 1:03.23 1:00.40 2:03.63 124.48
30 185 3012828 H¥JE HIE BB N=NTAT V=) 1:04.57 59.86 2:04.43 131.05
31 142 3012202 4Bl ¥ FH/NERE 1:04.81 59.77 2:04.58 132.28
32 150 3014690 Hikf HE LN 1:03.09 1:01.82 2:04.91 134.99
33 158 3011907 F3FE Fs U NN 1:04.37 1:00.73 2:05.10 136.54
34 166 3014347 JEIF = AN 1:04.86 1:00.84 2:05.70 141.47
35 178 3014357 f{ex AN WEE Bty 27 A%—F—A 1:04.38 1:01.86 2:06.24 145.90
36 183 3013064 &)l HIK FOHE/ N 1:04.74 1:01.63 2:06.37 146.97
37 152 3014346 fEx A Kiif EE3TVAINE A 1:04.78 1:02.12 2:06.90 151.31
38 159 3013185 f{&jE FEE FHT /N2 1:05.59 1:02.32 2:07.91 159.60
39 144 3013263 =B HA T T A=A =4 1:16.06 1:11.16 2:27.22 318.06
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN] 6
146 3011833 1M fEK [=¢4 HAE /PR
155 3012114 f@l Z&3k B ey Y S VRPN iy
156 3012001 H@IN BEWH =T WEY 2 =7
181 3014308 =4 fiE K T N
186 3011999 /NLUH JEkE =T WEY 2 =7
188 3011831 Zj= BAHK (287 VG HR /N
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 3
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DATA PROCESSING by SE I KO TIMING by SET KO
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No No K4 B 4 B B 4 Re R OB R B ORI AAb
141 3014354 HO)I JEAKBH M FA TV ) F=h
160 3012262 +-hE R =T EH Trbv=y ) F-A4
161 3013268 f{LjiE FEE =T IRy 127
DISQUALIFIED [2nd RUN] 0
Bk  EL EiE (B 04/142/04
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